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%‘%;jﬁ %Egzg ﬂiﬂ@ ji@*ulE;]Jf“EA 142.607|  144.839
2.8 F A 3
HITH + =FAIR + 29 T Wb(g)| 155.254 157.523
\gi %Xé%t(ﬂg;ﬂ JAwrEHe WEE9 13.4 13.7
=Ax AR T o (g) 20.298 20.360
(0% we] el "o
WE(TC / T0) 2.653 2.652
o + (Wax - Wb)
ZE gk Eo U (g/ar) 0.99932[  0.99928
% 9 ¥ =(g/a) 2.651 2.650
3 T # 2.651|(g/cr)




g 4 A @

A AW T B2 Al & d A 2014 3.05
AR IS % ‘
Al g Y KS F 2312:2001:E A A g;pﬁg
= A 9 B 9] 2214.078 cnf A 5892.9¢g
9 2214.078 cit 5892.9 g
] T :2.651
(A EA+ZE) A (g) 1| 9761.4 o | 9889.0 U5 | 10002.5
I 1
Ao A (g) 3868.5 i 3996.1 i 4109.6
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AZWE Y d(g/er) 1.655 i 1.681 i 1.698
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AXZAMES2AH : Ws=100Ws /(1004+w) : 114.83 ¢
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1. 2IAHXZAIRO & 4H =FH(XHELH|)
NO @ 1 NO : 2 NO : 3
WW = 1260.9 WW = 1079.4 W =
DW = 1046.0 Tw = 187.9 oW = 903.3 Tw = 175.3 oW = Tw =
Ww = 214.9 Ws = 858. 1 Ww = 176.1 Ws = 728 Ww = Ws =
= 25. 0% = 24, 2% W=
= gl 24 .6%
2. HISH A8
— ENE HEANS ENEENEEE] o o . o] 2E0
SENY) i) [ 2222 [ ¢ [sezoim] U1 | VUt | JGm/aGsmw [Hoezomm]| —oNTE [EEATE T PHESRE) oh
9:31 1 0.0800] 0.0300 111.4 111.4]  10.5523 0.0040 0.0424 25 0.0020[ 0.0320 44.7%  22.1%
9:32 2 0.0275] 0.0275 116.2 58. 1 7.6219 0.0040 0.0306 25 0.0020] 0.0295 41.2%  20.4%
9:35 5 0.0250( 0.0250 121.0 24.2 4.9198 0.0040 0.0197 25 0.0020] 0.0270 37.7% 18.7%
9:45 15 0.0220] 0.0220 126.8 8.5 2.9078 0.0040 0.0117 25 0.0020] 0.0240 33.5%|  16.7%
10:00 30 0.0200f 0.0200 130.7 4.4 2.0872 0.0040 0.0084 25 0.0020] 0.0220 30.7% 15.4%
10:30 60 0.0180] 0.0180 134.6 2.2 1.4976 0.0040 0.0060 25 0.0020] 0.0200 27.9%  14.0%
13:30 240 0.0155 0.0155 139.4 0.6 0.7621 0.0040 0.0031 25 0.0020] 0.0175 24 . 4% 12.4%
9:30 1440 0.0120] 0.0120 146.2 0.1 0.3186 0.0040 0.0013 25 0.0020] 0.0140 19.5%  10.0%
HUAHAS EX (Cm) : 0.0009 1:8H 282 Z0IAl =241.0000HXI 22 0l (m) 107.59
Ws/V (g/cm) : SEM 1M & HAZTAIZR 2:2H 2o TOA =241.0507HXI 2 2 0l (mm) 10.87
Lb : 8 72 20| (mm) 136.84
1/(Ws/V)=  8.71 cm/g Gs/(Gs-0.99678)*rw 1.603 g/orm Vb —‘?—E 2Ll 21 (em) 57.50
A HIAARIHS SHEHA (o) 58.84
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H A 1 2 3=2-1 4=3/Ws 5 6 7=6xP2.0
- = H2A2+ | H2Al2
A EJHs [EIIRH]| o5 o o =2 MRS RE IIMENE |BEHIIIE S8
0.85mm(NO.20) 1 438 453.0 15.00 13. 1% 13. 1% 86.9% 83.0%
0.425mm(NO.40) 2 373.2 398.7 25.50 22.2% 35.3% 64.7% 61.8%
0.25mm(N0.60) 3 380.4 395.2 14.80 12.9% 48.2% 51.8% 49.5%
0.106mm(NO. 140) 4 345.5 360.2 14.70 12.8% 61.0% 39.0% 37.3%
0.075mm(NO.200) 5 349.2 353.0 3.80 3.3% 64.3% 35.7% 34.1%
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_ NO.10KIO 22 Al2= 22 A
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NE
=H (MHBINAZTAIZ+ED]) 4013.8 ¢ W+=22D) 2 866.9 g
2I12 745.6 g 2I129 745.9 g
HAAEO RIAZDAHW) 3068.2 g W1 121.0 g
1. 2mmAl SUHA2Q &H A
NO 1 NO p) NO
W 763.6 ww 796.7 W
Dw 661.9 Tw 176.5 Dw 689.4 Tw 187.6 Dw Tw
W 101.7  Ws 485 .4 W 107.3  Ws 501.8  Ww Ws
W= 21.0% W= 21.4% W=
B AH 21.2%
2. AXAXAIZSH(W0) = W/ (14w) 2697.3
3. omAl SUAZAZ2H(W2)= W2=W0-W1 2576.3 g 2576.3
4. P2.0(UY2.0MOIACl IIHEDS)= W2/Wo 95 5%
5. 2mmAI0l €2 A2 HE4H
H AR 1 2 1 2=1/W0
- _ 5 yeAz+ | w2az oy | o pIE=
MosEsl BARA | g | eww | ¥FER| uss | sas
75.0mm 1 437.10 437.10 0.00 | 0.0% | 0.0% | 100.0%
53.0mm| 2 461.90 461.90 0.00 | 0.0% | 0.0% | 100.0%
37.5mm| 3 471.60 471.60 0.00 | 0.0% | 0.0% | 100.0%
26.5mm| 4 469.50 469.50 0.00 | 0.0% | 0.0% | 100.0%
19.00m 5 456.80 456.80 0.00 | 0.0% | 0.0% | 100.0%
9.5mm 6 489.70 492.90 3.20| 0.1% | 0.1% | 99.9%
4.75mm| 7 524.00 534.80 10.80 | 0.4% | 0.5% | 99.5%
2.0mm 8 431.10 538.10 | 107.00 | 4.0% | 4.5% | 95.5%
« AXA22H 121.00 g
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